GSE Algebra II





Name____________________________________
	Unit: 7
	Homework: 17

	Standards: MCC9‐12.S.IC.4 Use data from a sample survey to estimate a population mean or proportion; develop a 

margin of error through the use of simulation models for random sampling.  

	Essential Question:  How do we estimate measures for populations that are very large?  How does margin of error explain statistical results? 

	Key Words:  desirable outcome, failure, sample proportion, level of confidence, level of confidence, standard deviation

	Find the sample proportion, the margin of error and the confidence interval.

	1. If 64% of a sample of 550 people leaving a shopping mall claims to have spent over $25, determine a 99% confidence interval estimate for the proportion of shopping mall customers who spend over $25.  Interpret your interval.


	2. In a random sample of machine parts, 18 out of 225 were found to have been damaged in shipment.  Establish a 95% confidence interval estimate for the proportion of machine parts that are damaged in shipment.  Interpret your interval.


	3. An assembly line does a quality check by sampling 50 of its products.  It finds that 16% of the parts are defective.  


	a. Create a 95% confidence interval for the percent of defective parts for the company and interpret this interval.  

	b. If we decreased the confidence level to 90% what would happen to:

i. the critical value?

ii. the margin of error?

iii. the confidence interval?



	4. A nationwide poll was taken of 1432 teenagers (ages 13-18).  630 of them said they have a TV in their room.  



	a. Create a 90% confidence interval for the proportion of all teenagers who have a TV in their room and interpret it.  
	b. What does “90% confidence” mean in this context?

	c.  If we increased the confidence level to 99% what would happen to:

i. the critical value?

ii. the margin of error?

iii. the confidence interval?


	d.  If we increased the confidence level to 99% what would happen to:

iv. the critical value?

v. the margin of error?

vi. the confidence interval?



	5. Suppose a 90% confidence interval is stated as (0.3011, 0.4189). 

a. What is the sample proportion from this sample?

b. What is the margin of error?




